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(vii) Instructions :-
(1)  All questions are compulsory.
(11)  Question no 1 to 4 are objective type question.
(ii1)) Internal options are given in question no. 5 to 22.
(iv)  Question no 5 to 16 each question contain 2 marks (word limit 30 words)
(v)  Question no 17 to 19 each question contain 3 marks (word limit 75 words)
(vi) Question no. 20 to 22 each question contain 4 marks ( word limit 120 words)
(1). 2 fApeu gadHx fRay | [1X8=8]
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(11) Fe (s) + Cuso4 (aq) — Fesoy4 (aq)+ cu (s)
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Choose and write the correct option.

The reaction in which energy is absorbed is called.
(a) Endothermic reaction (b) Exothermic

(c) Evaporation reaction (d) Combination

Fe (s) + Cuso4 (aq) — Feso, (aq)+ cu (s)

the above reaction is an example of

(a) Combination reaction (b) Double displacement reaction
(c) Decomposition reaction (d) Displacement reaction

Where does photosynthesis takes place
(a) Root (b) Xylem
(c) Leaf (d) Phloem

Growth inhibiting hormones in plants
(a) Cytokinin (b) Gibberillin
(c) Auxin (d) Abscisic acid



(V). A part of male reproductive system in human beings
(a) Ovary (b) Uterus
(c) Vas deferens (d) Fallopian tube

(VI). The image formed by a concave mirror is observed to be virtual erect and larger
than the object the position of the object-
(a) Between the principal focus and  (b) At the centre of curvature
centre of curvature
(c) Beyond the centre of curvature  (d) Between the pole of the mirror
and its principal axis

(VII). Image formed in retina is -
(a) virtual and erect (b) Real and erect
(c) Real and inverted (d) Virtual and inverted

(VIII). The device used for production of electric current-

(a) Generator (b) Galvanometer
(c) Ammeter (d) Electricmotor
ged (2). 921 SISl fHegy— [1X8=8]

(1) T, () T BT erar

(1) g (@) = &g

(1) Avs e () TR
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(V) faggerem () Tetm

(V1) e T (@) BTEST

(VIl) STgeifex (B) SorgaT

(VIII) Fh ©EIRCINED

(s7) Hel

Match the Column:-

(1) ATP (a) Lens Capacity

() Budding (b) Liquid metal

(1) Mendel (c) Ampere

(V) Acid (d) Thyroxin

(V) Electric current (e) Coulomb

(V1) Goiter (f) Hydra

(Vi) Dioptre (g) Energy currency

(Vi) Mercury (h) Genetics

(i) HCL
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e (3). Raa e v9Ra— [1X7=7]
(1) TueTRre NY BT TAM....oo. BT SUAR B & oY fhar Srem 2 |

Fill in the blanks :
(I)  Antacid medicine is used for the treatment of...............
(IT) Metals are good........... of heat and electricity.

(IIT) - Ovary products...........
(IV) Mendel formulated the laws of.......
(V) The Twinkling of stars is due to phenomenon of..............

(VI) One horse power = -------- watt.
(VII) Ozone (0;) Molecules are made up of............ atoms of oxygen.
U3 (4).T% I H IR ferRaw— [1X7=7]

(@) T R 8?

@) sMfxod fhan feas grT Mt~ Bt 87

()  HOT B UI§T FHal A Ferar 2?

") O o & ®Ied O 1 HieR B IFD! gHal fha sril?
)

)

A e & @RGB & o) I S Bl 3eqad g forikag?
BRI ¥ yYad B9 drell fagd fdbad aree Bl 87
(®) fagd arT @1 AAFH ISl § & arel JF BT A IRy |

Write answer in One sentence :

(I)  What is tensile?

(I)  Involuntary actions in the body are controlled by.

(IIT) - From where does the embryo get nutrition.

(IV) What will be the power of a lens whose focal length is 1 matter?

(V)  Write the least distance of clear vision for an adult with normal vision.
(V) How many volts is the electricity used in house?

(VII) Name the device that converts electrical current into mechanical energy.

(5). oTaEUUT IAATHAT A MY FIT FHAST BIPIQTERYT TH URATNT HIFAT | 2.

What do you mean by a precipitation reaction? Define with example.
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3ferdT / Or
el Ud qarged e UarRil ®l AsgieE | yHiad @i fhar S § ?
Why foods containing oil and fat are affected by Nitrogen?

fHs1 o1 T B 87 U SQTeRYT Iforg |

What are Alloys? give one example.
31141 / Or

g & IR o1gell & 99 O & | A7

Why are electric Wire made of metals?

feharcHes g fbd Hed &7 IR0l QI |

What is functional group? Give example.
31eraT / Or
TISIBIET FT &7 IQTER0T QIfoTy |

What is Hydrocarbon? Give example.

IS & 9rad H AR &) 7 T 27

What is the role of saliva in the digestion of food?
31141 / Or

RATeT Td Yad # Gl erax ey |

Write the differences between lymph and Blood.

TIORTTOT AT 87
What is self Pollination?
3141 / Or
fegared, 9g@ved ¥ 5 yaR = 2|
How does binary fission differ from multiple fission?

Tellel (faamed)) @t g farlRed |
Write the definition of Allele.
3141 / Or

Heol @ YANT ERT b9 Udl Il b oI&70T J9TE] J1rdT Ul 2id 22

How did Mendel's experiments shows whether traits is dominated or recessive?

fdl o @) T SR &adr &I gRYMNT BHIfSTT |

Define dioptre power of lens.
31erdT / Or
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(13).

(14).

(15).

JUad-ih J AT FT AT &7

What do you mean by refractive index?

SIS 9 & oY el U0 €1 SuYad & BRI Iad1sy |

Only concave mirror is suitable for shaving give reason.
31141 / Or

AT TUT B H&I BIhd DI URHNT Ry |

Define principle focus of a concave mirror.

foug fhd wed 27 STRT TI.TTS. HTHd foTfkau |

What is potential? write its S.I. unit.
3ferdT / Or
3 &1 frm faRay |

Write ohm's law.

Tl & 91 BT & a9 &1 fafag |

Write Fleming's left hand rule.
37erdT / Or
g WIS a1 2 ST SUANT ol |

What is electric fuse? write its use.

fOsCaRT Ud JATad] ORT H THRg 3R TRy |

Write the major difference between direct current and alternating current.

3127t / Or

faed grag IR {5y wed 82

What is electromagnetic induction?

TS aIffT & 1 BRI foRay |

Write two causes of global warming.
31erdT / Or

S URd T &, Ig a1 &flvT 81 &l 27
What is the Ozone layer, why is it depleting?



(17).

(21).

I Ud SNy SrfAfshareti d 19 srar forfRau |

Write three differences between exothermic and endothermic reaction.

31erar / Or

BT BT S DI GUIfAT B dTel A BRBT Dl fIRau |

Write the factors affecting the rate of reaction.

Tf3reT BIRIBT &1 A™ifhd e 1Y |

Draw a labelled diagram of a nerve cell.

372rdT / Or
yfaradt fhar &1 g 99180 |

Draw a diagram of reflex action .

TS SR el 7 fawTs <ar 87
Why does the clear sky appear blue?

J12rdT / Or

TH a9l B9 & UErd & SNdI H gy fiwr a1 € &l

Why do we see rainbow in the sky only after it rains?

g B Grel Ud d9fhTT It & gl—ar STy forfau |

Write two uses of washing soda and baking soda.

J12rdT / Or

fSTeT9 a1 87 R R 99§99 100°C UR TH fHAT ST 7 |
What is Gypsum? What will happen if it is heated at 100°C.

P2l 4 Tedplgdl & G, IUPAC M oy AaT 91 |
Write the formula, IUPAC name and structure of 4 alcohols.
31erdT / Or
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BISSISTHIDRYT T 27 §H®] AENfd IUART frlay |

What is hydrogenation? write its industrial application.

(22). W & IO dF & AMIfGT O =Y |

Draw a labelled diagram of human excretory system.

31erar / Or

A @ UTed dF & Adifhd fF 8 |
Draw a labelled diagram of human digestive system.

XXX



